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QUESTION 1

What will cause the creation of a column-organized table to fail? 

A. Setting the database code set to UNICODE. 

B. Setting the DFT_DEGREE database configuration parameter to ANY. 

C. Setting the AUTO_RUNSTATS database configuration parameter to ON. 

D. Setting the UTILJHEAP_SZ database configuration parameter to at least 1.000,000 pages. 

Correct Answer: C 

 

QUESTION 2

What is a DB2 Advanced Copy Services (ACS) script used for? 

A. To install and configure DB2 Advanced Copy Services. 

B. To redirect Tivoli Storage FlashCopy Manager commands to DB2 Advanced Copy Services. 

C. To test the functionality of a DB2 ACS API vendor library without performing a snapshot backup or restore operation. 

D. To perform snapshot backup and restore operations on storage devices that do not have a DB2 ACS API vendor
library. 

Correct Answer: C 

 

QUESTION 3

Which command, when executed, will enable workload management for column-organized table 

workloads? 

A. db2setDB2_WORKLOAD=ANALYTICS 

B. db2set DB2_WLM_DISP_CONCUR=START 

C. UPDATE DBM CFG USING WLM_DISPATCHER YES 

D. UPDATE DBM CFG USING WORKLOAD TYPE ANALYTICAL 

Correct Answer: C 

 

QUESTION 4

When can a high availability disaster recovery (HADR) role switch operation be performed in a DB2 pureScale
environment? 
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A. When crash recovery is occurring on the standby cluster. 

B. When all the log streams are in peer or assisted remote catchup state. 

C. When the primary database is not connected to the standby database. 

D. All the log streams are in remote catchup state and the synchronization mode is NEARASYNC. 

Correct Answer: D 

 

QUESTION 5

If the following commands are executed successfully: 

Which SQL statement will fail? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 
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